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Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–II • EXAMINATION – SUMMER • 2014 

Subject Code: 3320903 Date: 10-06-2014        

Subject Name: D.C. Circuits 

Time: 10:30 am - 01:00 pm Total Marks: 70 
Instructions: 

1. Attempt any five questions. 

2. Make Suitable assumptions wherever necessary.  

3. Figures to the right indicate full marks.  

4. Use of programmable & Communication aids are strictly prohibited.  

5. Use of only simple calculator is permitted in Mathematics.  

6. English version is authentic. 

 

Q.1  Answer any seven out of ten. 14 

 1. Define resistivity. Write its symbol and unit.  

 2. State kirchoff’s voltage law.  

 3. Write factors affecting resisters.  

 4. Calculate the resistance of 100 W, 230 V lamp.  

 5. State superposition theorem.  

 6. Give four classification of capacitor according to dielectric medium.  

 7. Define reluctance and reluctivity.  

 8. Explain lenz’s law.  

 9. List types of inductors.  

 10. Give advantages of parallel circuit.  

    
Q.2 (a) Explain ohm’s law and give its limitations. 03 

  OR  

 (a) Give comparison between conductor, semiconductor and insulator.  03 

 (b) Explain effect of temperature on resistances of different materials. 03 

  OR  

 (b) A tungsten filament lamp has a temperature of 2050
0 

C and resistance of 500 

Ω when taking normal current. Calculate resistance of filament when it has 

temperature of 25
0 

C. Resistance temperature coefficient at 0
0
 C is 0.005. 

03 

 (c) Define: (i) Mechanical work (ii) Mechanical power (iii) Electrical energy (iv) 

Specific heat. 

04 

  OR  

 (c) In a hydro power station the net head of water available to the turbine is 200 

m. Determine the amount of water required to generate 20 kWh of electrical 

energy. Overall efficiency of hydro power station is 85%. 

04 

 (d) Derive the equation for equivalent resistance of a parallel connection of three 

resistors. 

04 

  OR  

 (d) The equivalent resistance of four resistance joined in parallel is 20 Ω. The 

current flowing through them are 0.6 A, 0.3 A, 0.2 A and 0.1 A. Find the value 

of each resistors. 

04 

    
Q.3 (a) Explain duality between series and parallel circuits. 03 

  OR  

 (a) Using nodal analysis determine the currents supplied by each battery of fig. 1. 03 

 (b) Explain linear and non-linear circuits by giving examples. 03 

  OR  

 (b) Transform a current source of 1 A having a internal resistance of 5 Ω into its 03 
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equivalent voltage source. Draw necessary diagrams. 

 (c) Calculate the current flowing through the 4 Ω resistor in fig. 2 using 

Thevenin’s theorem. 

 

 

 

 

 

 

 theorem. 

 

 

 

 

 

 

 

 

 thevenin’s  thevenin’s   

04 

  OR  

 (c) Find the current flowing through the 4 Ω resistor in fig. 3 using Norton’s 

theorem. 

04 

 (d) Three resistors R1, R2 and R3 are connected in star connection. Obtain their 

equivalent resistances for delta connection. 

04 

  OR  

 (d) State coulombs first and second law of electrostatics and obtain equation for 

attraction and repulsion force between two charges. 

04 

    
Q.4 (a) Explain three factors affecting co-efficient of mutual inductance. 03 

  OR  

 (a) Give definitions: (i) MMF (ii) Magnetic flux (iii) Permeability.  03 

 (b) Three capacitors having 10 µF, 50 µF and 25 µF are connected in parallel 

across 250 V DC supply. Find out the value of equivalent capacitance and 

charge across each capacitor. 

04 

  OR  

 (b) Obtain equation for distribution of charge on three capacitors connected in 

parallel. 

04 

 (c) Give comparison between electrical circuit and magnetic circuit. 07 

    
Q.5 (a) Explain right hand rule and cork’s screw rule to find out the direction of 

magnetic field of current carrying conductor. 

04 

 (b) Determine the expression for charging voltage of capacitor. 04 

 (c) A ring of mean diameter of 30 cm is wound with 200 turns of copper wire 

carrying the current of 2 A. The cross sectional area of the ring is 12 cm
2
 and 

its relative permeability is 1000. Determine the flux established.  

03 

 (d) Obtain the equation for equivalent capacitance of three capacitors connected 

in parallel.  

 

03 
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ગજુરાતી 
પ્રશ્ન. ૧  દ઴મ ાંથી કોઇ઩ણ શ તન  જળ ફ આ઩ો. ૧૪ 

 ૧. અળરોધકત ની વ્ય ખ્ય  આ઩ો. તેન ાં ચિન્ષ અને એકમ જણ ળો.  

 ૨. કકિોપ નો ળોલ્ટજનો નનયમ શમજાળો.  

 ૩. અળરોધ ને અશર કરત  ઩કરફલો જણ ળો.  

 ૪. 100 W, 230 V ફલ્ફ ન  અળરોધની ગણતરી કરો.  

 ૫. સ ઩ર઩ોઝી઴ન પ્રમેય જણ ળો.  

 ૬. ડ ઈ-ઈ઱ેક્ટ્રીક મ ધ્યમ ન  આધ રે કે઩ેશીટર ન  િ ર પ્રક ર જણ ળો.  

 ૭. રી઱ક્ટ્ટન્શ અને રી઱ક્ટ્ટીળીટી ની વ્ય ખ્ય  આ઩ો.  

 ૮. ઱ેન્ઝ નો નનયમ શમજાળો.  

 ૯. ઈન્કક્ટ્ટર ન  પ્રક ર જણ ળો.  

 ૧૦ શમ ાંતર ઩કર઩થન  પ યદ  જણ ળો.  

    
પ્રશ્ન. ર અ ઓહ્મ નો નનયમ શમજાળો અને તેની મય ાદ ઓ ઱ખો. ૦૩ 

  અથળ   

 અ ળ ષક, અધાળ ષક અને અળ ષક ની ત  ઱ન  કરો. ૦૩ 

 ફ ત ઩મ નની જ દ જ દ  પ્રક રન  તત્ળો ઩ર થતી અશર જણ ળો. ૦૩ 

  અથળ   

 ફ ટાંગસ્ટન પી઱ મેન્ટ ઱ેમ્઩ નો અળરોધ જ્ય રે શ મ ન્ય દરે નળદ્ય ત પ્રળ ષ ઩શ ર 
થ ય ત્ય રે 2050

0 
C ત ઩મ ને 500 Ω છે. જ્ય રે પી઱ મેન્ટન ાં ત ઩મ ન 25

0 
C 

ષોય ત્ય રે તેનોઅળરોધ ઴ોધો. પી઱ મેન્ટ નો રેઝીસ્ટન્શ ટેમ્઩રેિર 
કોએપીશીયન્ટ 0.005 છે. 

૦૩ 

 ક વ્ય ખ્ય  આ઩ો: (i) ય ાંત્રીક ક યા (ii) ય ાંત્રીક ઩ ળર (iii) નળદ્ય તઊજાા (iv) 
સ્઩ેશીપીક ઉજાા  

૦૪ 

  અથળ   

 ક ષ ઈડ્રો ઩ ળર સ્ટે઴ન મ ાં ક ઱ ષડે 200 મીટર છે. 20 kWh નળદ્ય ત ઉજાા ઉત્઩ન્ન 
કરળ  મ ટે જરૂરી ઩ ણીનો જથ્થો ઴ોધો. ષ ઈડ્રો ઩ ળર સ્ટે઴ન ની ક ઱ 
ક યાક્ષમત  85% છે.   

૦૪ 

 ડ ત્રણ અળરોધ શમ ાંતર જોડે઱ ષોય તો તેનો અશરક રક અળરોધ ઴ોધળ  
મ ટેન ાં સતૂ્ર ત રળો. 

૦૪ 

  અથળ   

 ડ શમ ાંતર જોડે઱  િ ર અળરોધની અશરક રક કકિંમત 20 Ω છે. જો તેઓ મ ાંથી 
઩શ ર થત  નળદ્ય ત પ્રળ ષની કકિંમત અન ક્રમે  0.6 A, 0.3 A, 0.2 A અને 0.1 A 
ષોય તો દરેક અળરોધની કકિંમત ઴ોધો.  

૦૪ 

    
પ્રશ્ન. ૩ અ શમ ાંતર અને શે્રણી ઩કર઩થ મ ટે ડય આ઱ીટી શમજાળો. ૦૩ 

  અથળ   
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 અ નોડ઱ એન ઱ીશીશ ની મદદ થી આકૃનત 1 મ ાં દરેક ફેટરી દ્વ ર  અ઩ તો 
નળદ્ય ત પ્રળ ષ ઴ોધો. 

૦૩ 

 ફ ઱ીનીયર અને નોન ઱ીનીયર ઩કર઩થ ઉદ ષરણ શ થે શમજાળો. ૦૩ 

  અથળ   

 ફ 1 A ન  અને 5 Ω નો આંતરીક અળરોધ ધર ળત  કરાંટ શોશા ને ળોલ્ટેજ શોશા 
મ ાં ઩કરળનતિત કરો. જરૂરી આકૃનત દોરો. 

૦૩ 

 ક થેળેનીન પ્રમેયનો ઉ઩યોગ કરીને આકૃનત 2 મ ાં દ઴ ાળે઱ 4 Ω અળરોધ મ ાંથી 
઩શ ર થતો નળદ્ય ત પ્રળ ષ ઴ોધો. 

૦૪ 

  અથળ   

 ક નોટાન પ્રમેયનો ઉ઩યોગ કરીને આકૃનત 3 મ ાં દ઴ ાળે઱ 4 Ω અળરોધ મ ાંથી 
઩શ ર થતો નળદ્ય ત પ્રળ ષ ઴ોધો. 

૦૪ 

 ડ ત્રણ અળરોધ R1, R2 અને R3 ને સ્ટ ર મ ાં જોડે઱ છે. તેઓન  ડેલ્ટ  જોડ ણ મ ાં 
અશરક રક અળરોધ ઴ોધો. 

૦૪ 

  અથળ   

 ડ ઈ઱ેક્ટ્રોસ્ટેટીક ન  ક ઱મ્ફ ન  પ્રથમ અને દ્વદ્વતીય નનયમો શમજાળો. ફે નળદ્ય ત 
િ ર્જ ળચ્િે આકવાણ અને અ઩ કવાણ ફલ ન ાં સતૂ્ર ત રળો. 

૦૪ 

    
પ્રશ્ન. ૪ અ મ્ય ટય અ઱ ઈન્ડક્ટ્ટન્શ ન  કોએપી઴ીઅન્ટ ને અશર કરત  ત્રણ ઩કરફલો 

શમજાળો.   
૦૩ 

  અથળ   

 અ વ્ય ખ્ય  આ઩ો: (i) MMF (ii) મેગ્નેટીક ફ્઱ક્ષ (iii) ઩મીય ફી઱ીટી  ૦૩ 

 ફ 10 µF, 50 µF અને 25 µF ન  ત્રણ કે઩ેશીટર ન  શમ ાંતર ઩કર઩થમ ાં ને 250 V 
ન  એકકદ઴ સ્ત્રોત શ થે જોડે઱  છે. કે઩ેશીટરની અશરક રક  કકિંમત અને દરેક 
કે઩ેશીટર નો િ ર્જ ઴ોધો. 

૦૪ 

  અથળ   

 ફ સમાાંતર પરરપથમાાં જોડેલા ત્રણ કેપેસીટર ના વ઴દ્યતુ ચાર્જની ફાળ઴ણી નુાં સતૂ્ર 
તાર઴ો. 

૦૪ 

 ક નળદ્ય ત ઩કર઩થ અને ચ ાંફકીય ઩કર઩થ ળચ્િે ત  ઱ન કરો.  ૦૭ 

    
પ્રશ્ન. ૫ અ જેમ ાંથી નળદ્ય ત પ્રળ ષ ઩શ ર થતો ષોય તેળ  ળ ષક ની આજ ફ જ  ઉત્઩ન્ન થત  

ચ ાંફકીય કે્ષત્રની કદ઴  જાણળ  મ ટેનો  જમણ  ષ થનો અને કોકા સ્ૂ નો નનયમ 
શમજાળો. 

૦૪ 

 ફ કે઩ેશીટરન  િ જીંગ ળોલ્ટેજન ાં સતૂ્ર ત રળો. ૦૪ 

 ક 30 શેમીનો શરેર ઴ વ્ય શ ધર ળતી રીંગની આજ ફ જ  ત ાંફ ન  ત રન  200 

આંટ  ળીંટ લે઱  છે જેમ ાંથી 2A નો નળદ્ય ત પ્રળ ષ઩શ ર થ યછે. રીંગન ાં 
આડછેદન ાં કે્ષત્રપલ 12 cm

2  છે અને તેની શ ઩ેક્ષ ઩મીય ફી઱ીટી  1000 છે તો 
ઉત્઩ન્ન થત ાં ચ ાંફકીય ફ્઱ક્ટ્શ ઴ોધો. 

૦૩ 
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 ડ શમ ાંતર ઩કર઩થમ ાં જોડે઱  ત્રણ કે઩ેશીટર ની અશરક રક કકિંમત ઴ોધળ  
મ ટેનાં સતૂ્ર ત રળો. 

૦૩ 

 

************ 


